NE bite type tube fittings , OST-2

Name of manufacturer: IHARA SCIENCE CORPORATION

Name Configuration Model Applicable pipe 0.D.(mm)  Thread size Mass(kg)  Model of manufacturer
ZH-8FKCT08020 28 R1/4 0.046 KCT08-020E
Male Connector @@ ZH-8FKCT12030 212 R3/8 0.071 KCT12-030E
ZH-8FKCT12020 212 R1/4 0.068 KCT12-020E
ZH-8FKLN08020 28 R1/4 0.065 KLNO08-020E
Male Elbow g@ ZH-8FKLN12030 212 R3/8 0.105 KLN12-030E
ZH-8FKLN12020 212 R1/4 0.096 KLN12-020E
ZH-8FKUA08000 28 - 0.059 KUAO08-000E
ZH-8FKUA12000 212 - 0.093 KUA12-000E
f f ZH-8FKTA08000 28 - 0.122 KTA08-000E
Union Tee e h
ZH-8FKTA12000 212 - 0.172 KTA12-000E
ZH-8FKLA08000 28 - 0.077 KLA08-000E
Union Elbow
ZH-8FKLA12000 212 - 0.124 KLA12-000E
ZH-8FKTK08020 28 R1/4 0.102 KTKO08-020E
Male Run Tee ZH-8FKTK12030 212 R3/8 0.143 KTK12-030E
ZH-8FKTK12020 212 R1/4 0.135 KTK12-020E
ZH-8FKTN08020 28 R1/4 0.102 KTNO08-020E
Male Branch Tee QL (] ZH-8FKTN12030 212 R3/8 0.143 KTN12-030E
ZH-8FKTN12020 212 R1/4 0.135 KTN12-020E
/ ZH-8FKLL08020 28 R1/4 0.103 KLLO8-020E
Extended Male Elbow ZH-8FKLL12030 212 R3/8 0.156 KLL12-030E
ZH-8FKLL12020 212 R1/4 0.156 KLL12-020E
Name Configuration Model 0.D.(mm) Thickness(mm)  Length(mm) Mass(kg)
ZH-8FOP081200 28 1 0.444
0ST-2 e ——— 2000
ZH-8FOP121200 212 1.5 0.776

Pascal

Pamphlet PA-435E(1) REV.12 2024.06



Fittings

Name

High pressure nipple

High pressure
reducing nipple

High pressure coupling

Street elbow

90°Elbow

Tee

Swivel joint

Hollow hex plug

Hydraulic coupler
(Male)

Hydraulic coupler
(Female)

Configuration

(BIEE)

v/
e

Model

ZH-8FSNP01000
ZH-8FSNP02000
ZH-8FSNP03000
ZH-8FSRN02010

ZH-8FSRN03020
ZH-8FSRN04020

ZH-8FSFC02000

ZH-8FSFC03000

ZH-8FSLC02000

ZH-8FSLC03000

ZH-8FSLA02000

ZH-8FSLA03000

ZH-8FSTA02000

ZH-8FSTA03000

ZH-9A2422-000

ZH-9A2326-200

ZH-9A2326-300

ZH-8FQC02HP00

ZH-8FQC02HS00

Thread size

R1/8

R1/4

R3/8
R1/4-R1/8

R3/8-R1/4
R1/2-R1/4

Rc1/4

Rc3/8

Rc1/4 -R1/4

Rc3/8 -R3/8

Rc1/4

Rc3/8

Rc1/4

Rc3/8

G1/4-R1/4

R1/4

R3/8

Rc1/4

Rc1/4

Pascal

Mass(kg)

0.013
0.032
0.048
0.03

0.045
0.078

0.075

0.074

0.057

0.1

0.09

0.16

0.12

0.21

0.1

0.008

0.016

0.04

0.134

Model of manufacturer Name of manufacturer

SNP01-000J
SNP02-000)J
SNP03-000)J

SRNO02-01F
SRNO03-02F
SRN04-02F

SFC02-000F

SFC03-000F

SLC02-000J

SLC03-000J

SLA02-000F

SLA03-000F

STA02-000F

STA03-000F

GJ1/4-19

GJ3/8-19

2HP

2HS

IHARA SCIENCE
CORPORATION

Gosho works,Itd

NITTO KOHKI
CO..LTD.

Pamphlet PA-435E(2) REV.12 2024.06



One-touch fittings

Name

Male connector

Male elbow

Straight union

Union"Y”

Union tee

Speed controllers
(Meter-out)

Name

Plug-in reducer

Configuration

—]
L]

=

(58|

Configuration

—

Model

ZH-9A2443-080
ZH-9A2443-090
ZH-9A2443-150
ZH-9A2443-160

ZH-9A2441-080
ZH-9A2441-090
ZH-9A2441-150
ZH-9A2441-160

ZH-9A2443-250

ZH-9A2443-270

ZH-9A2377-020

ZH-9A2377-040

ZH-9A2369-020

ZH-9A2369-400

ZH-4PTR939901
ZH-4PTR939902
ZH-4PTR939903
ZH-4PTR939904

Model

ZH-9A6009-Q3B

Applicable tube 0.D. (mm)

26
26
210
210

26
26
210
210

@6

210

26

210

26

210

26
26
210
210

0.D. of Applied tube (mm)

@6

Pascal

Name of manufacturer : SMC Corporation

Thread size

R1/8
R1/4
R1/4
R3/8

R1/8
R1/4
R1/4
R3/8

R1/8
R1/4
R1/4
R3/8

Thread size

210

Mass(kg)

0.006
0.013
0.022
0.023

0.005
0.015
0.022
0.045

0.002

0.006

0.005

0.011

0.004

0.011

0.01

0.018
0.020
0.032

Mass(kg)

0.002

Model of manufacturer

KQ2H06-01AS
KQ2H06-02AS
KQ2H10-02AS
KQ2H10-03AS

KQ2L06-01AS
KQ2L06-02AS
KQ2L10-02AS
KQ2L10-03AS

KQ2H06-00A

KQ2H10-00A

KQ2U06-00A

KQ2U10-00A

KQ2T06-00A

KQ2T10-00A

AS2201F-01-06SA
AS2201F-02-06SA
AS2201F-02-10SA
AS3201F-03-10SA

Model of manufacturer

KQ2R06-10A

Pamphlet PA-435E(3) REV.12 2024.06



Hose fittings

Name

Straight

90° elbow

45° elbow

Female-thread straight

Name

Interconnection
straight

Configuration

e

[ U

Configuration

(1 ]
[ U

Model

ZH-855R130603
ZH-85SR130606
ZH-855R130609
ZH-85SR130906
ZH-855R130909

ZH-855R330603
ZH-85SR330606
ZH-855R330609
ZH-85SR330906
ZH-855R330909

ZH-855R350603

ZH-85SR350606

ZH-855R350609

ZH-85SR350906

ZH-855R350909

ZH-85SR170606

ZH-855R170909

Model

ZH-855R140606

ZH-855R140909

Thread size of
hose connection

G1/4
G1/4
G1/4
G3/8
G3/8

G1/4
G1/4
G1/4
G3/8
G3/8

G1/4
G1/4
G1/4
G3/8
G3/8

G1/4

G3/8

Thread size of hose connection

Name of manufacturer : Sjimizu Manufacturing co., Itd

R1/8
R1/4
R3/8
R1/4
R3/8

R1/8
R1/4
R3/8
R1/4
R3/8

R1/8

R1/4

R3/8

R1/4

R3/8

Rc1/4

Rc3/8

G1/4

G3/8

Pascal

Thread size of
port connection

Mass(kg)

0.03
0.035
0.05
0.05
0.055

0.045
0.05
0.08
0.075
0.08

0.035
0.04
0.06
0.06
0.065

0.025

0.055

Mass(kg)

0.05

0.075

Model of manufacturer

SR13 3*6
SR136
SR13 6*9
SR13 9*6
SR139

SR33 3*6
SR336
SR33 6*9
SR33 9*6
SR339

SR35 3*6

SR356

SR356*9

SR35 9*6

SR359

SR176

SR179

Model of manufacturer

SR14 6

SR149

Pamphlet PA-435E(4) REV.12 2024.06



Hydraulic hoses

Name of manufacturer : Nitta Corporation

Name Configuration Model ovefﬂ,'rf)"gth Mass(kg)
ZH-8FHC030500 500 0.16
ZH-8FHC030600 600 0.168
S
LA ZH-8FHC030700 700 0.176
Standard 3 —7 H
G1/4 j’fﬂﬂ-k — il ZH-8FHC030800 800  0.183
1/4
61/ ZH-8FHC030900 900 0.191
. ZH-8FHC031000 1000 0.198
Swage coupling part No. SE-PF-03 Hose part No. 3000-03
ZH-8FHC060500 500 0.264
ZH-8FHC060600 600 0.278
S
>y % r\ ZH-8FHC060700 700 0.292
Standard I I I I i e
G3/8 j:%ﬂ/ At ZH-8FHC060800 800  0.306
G3/8 ZH-8FHC060900 900 0.32
ZH-8FHC061000 1000 0.334

Swage coupling part No. SE-PF-06 Hose part No. 3000-06

ZH-8FHD030500 5000%)  0.259
ZH-8FHD030600 600(%)  0.286

)
m -
Guardspring BT gy S T e
Gl1/4 ZH-8FHD030800 800 0.32
ZH-8FHD030900 900 0.341
ZH-8FHD031000 1000 0.361
ZH-8FHD060500 5000%)  0.429
ZH-8FHD060600 600(x)  0.485
. ZH-8FHD060700 700(%)  0.538
Guard spring
G3/8 ZH-8FHD060800 800 0.477
ZH-8FHD060900 900 0.515
Swage coupling part No. SE-PF-06 Hose part No. 3000-06 ZH-8FHD061000 1000 0.542
Name of manufacturer : Bridgestone Corporation
Name Configuration Model  Oeallength pmass(kg)
ZH-8BDE040500 500 0.27
ZH-8BDE040600 600 0.292
)
~ -
Wire braid D%—I E \ai I_ﬂ;:‘ ZH-8BDE040700 700 0.314
G1/4 jﬁj‘ o ZH-8BDE040800 800 0.336
G1/4
ZH-8BDE040900 900 0.358
Swage coupling part No. JYO4F Hose part No. KB04-GG ZH-8BDE041000 1000 =4
ZH-8BDE060500 500 0.37
N ZH-8BDE060600 600 0.4
S
m -
Wire braid v I K 4 ZH-8BDE060700 700 0.43
- (-t
G3/8 ZH-8BDE060800 800 0.46
G3/8 ZH-8BDE060900 900 0.49
ZH-8BDE061000 1000 0.52

Swage coupling part No. SYO6F Hose part No. KB06-GG
(3%) Length exclusively for Pascal

Pascal Pamphlet PA-435E(5) REV.12 2024.06



Branch WBB4 Old name: Manifold Block

Number of port Port Layout

model

WBB4-4A

4 ports :

model model model

WBB4-3A WBB4-3B WBB4-3C

3 ports _§§% gi%. Ol

[ <A

model

WBB4-2A

2 ports @ @2

Dimensions

Rc1/4 50 35
30 24

2-07 17.5

O © s
0 o

mass : 0.42 kg

35
275
12.5

Reference : Mounting screw M6x30 (model:ZH-8BSCM06030)

Mounting screws are not included. Mounting screw in the above diagram needs to be ordered separately.

Pascal Pamphlet PA-435E(6) REV.12 2024.06



Branch WBB6 Old name: Manifold Block

Number of port Port Layout
model
WBB6-6A
6 ports
model model model
WBB6-5A WBB6-5B WBB6-5C
5 ports “:L Jt
| |
QO OO0 O
ik ] ]
model model model
WBB6-4A WBB6-4B WBB6-4C
4 ports ] L] i ]

P -4 e~ IR
T llel e e
| | | | | |
@ £~ A @ @ = [ [
| I | | I | | | I I

1 I Il 1L L 1 Il I L I

Dimensions
Rc1/4 85 35
70 24
2-907 35 17.5
" @é @ ; =
m 2 @ ;;Ti:jw‘**
mass:0.61 kg

Reference : Mounting screw M6x30 (model:ZH-8BSCM06030)

Mounting screws are not included. Mounting screw in the above diagram needs to be ordered separately.

Pascal Pamphlet PA-435E(7) REV.12 2024.06



Branch WBA Old name: Manifold Block

Model Configuration Thread size Mass(kg)
2-¢7
95 25
35 35 125 NEEE
WBA9 2} [ e i | 9-Rc1/4 0.575
N\ :{Qﬂ N (a2} .4:':
9-Rc1/4 35 | 30 12.5
Reference:
Mounting screw M6x30 (model:ZH-8BSCM06030) Spring washer M6 (model:ZH-8WS2M06000)
65 32
° 32.5| 4-09 <2_3>
— L
DT e
WBA4-03 NS ﬁii =
(made to order) e BT o 4-Rc3/8 0.845
& | © B
4-Rc3/8 45 10 16
<>
Reference :
Mounting screw M8x35 (model:ZH-8BSCM08035) Spring washer M8 (model:ZH-8WS2M08000)
110 32
45 32.5| 2-09 23
<=
NI j
(o] r— 4
WBA06-03 o0 4@ s 13 6-Re3/8 1165
(made to order) /Ll i1 .
6-Rc3/8 90 10 16
<>
Reference:
Mounting screw M8x35 (model:ZH-8BSCM08035) Spring washer M8 (model:ZH-8WS2M08000)
122 2-99 32
45 45 (16 23
<>
H 14 :
WBA09-03 ni o N 5/ o N
(made to order) N © |€3 € QR ] Ra3/8 1.24
Frd | ofrd | b Ll
9-Rc3/8 45 | 385 16
<>

Reference :
Mounting screw M8x35 (model:ZH-8BSCM08035) Spring washer M8 (model:ZH-8WS2M08000)

Mounting screws are not included. Mounting screw and Spring washer in the above diagram needs to be ordered separately.

Pascal Pamphlet PA-435E(8) REV.12 2024.06



Glycerine bath type pressure gauges

Name of manufacturer : YODOGAWAKEIKI

Model Configuration Full scale = Application Colored circle Mass(kg) = Model of manufacturer
. 0.45~0.5MPa
Air Green
SK-HC-9A35331414 TMPa pressure 0.11 IADGT-R2-42x1M-414

gauge

R1/4 Scale other Red

oN

L

D
A o}

Air
pressure | N/A 0.11 IADGT-R2-42x1M-410
gauge

SK-HC-9A35331410 1MPa

R1/4 Safety mark

/ oil
SK-HC-9A3533345G @%% -l 40MPa pressure  with Safetymark  0.105  IADGU-R2-39x40M-45G
gauge
51

Example of use

Oil pressure gauge

Air pressure gauge Oil pressure gauge .
a = Air pressure gauge
@ Air pressure gauge
5 - U
o Al o= =T o
L] O O
(e}
PONEONENE ONEOHE ” ”
o o o o o o
Control unit Control unit Power unit
HCPD-H22DDDD-U HCSD-H2EDDD HUT-2

Pascal Pamphlet PA-435E(9) REV.12 2024.06



Pipe straps

Name of manufacturer : SHOWA

Name Configuration Model Applicable pipe OD.(mm) ~ A(mm) ~ B(mm)  Mass(kg) Model of manufacturer
A
Pipe strap ; ijm ZH-9A2552-032 o8 222 12 0.003 PZ0108
Single-sided type —
Single
ZH-9A2552-052 212 26.4 16 0.007 PZ0112

. ZH-9A2552-082 28 30.6 12 0.004 PZ0208
Pipe strap
Single-sided type
Doubl
e ZH-9A2552-102 012 38.8 16 0009  PZ0212
A
. . . ZH-9A2552-132 28 38.8 12 0.005 PZ0308
Pipe strap | E|$] mi
Single-sided type : .
Tripl
e ZH-9A2552-152 012 51 16 0011 PZ0312
. ZH-9A2552-031 28 34 12 0.004 PZ1108
Pipe strap
Double-sided type
Single
"9 ZH-9A2552-051 212 38 16 0.008 PZ1112
A
. T T ZH-9A2552-081 8 424 12 0.005 PZ1208
Pipe strap [@ |§ §|$] mi 2
Double-sided type : X
Double 2-¢5.2
ZH-9A2552-101 12 50.4 16 0.01 PZ1212
/\(\,/
F—>A\
. T T ZH-9A2552-131 28 50.6 12 0.006 PZ1308
Pipe strap [@ |§ §|ﬁ] mi
Double-sided type : :
Triple 2-¢5.2

ZH-9A2552-151 212 62.6 16 0.013 PZ1312
A

Mounting screws are not included. M5x10 Washer assembled cross recessed pan head screws P=4 (model 8BC510P3U0) needs to be ordered separately.

Pascal Pamphlet PA-435E(10) REV.12 2024.06



Pipe straps with base

Name of manufacturer : SOUGOKOUGYOU

Name Configuration Model Applicable pipe OD.(mm) ~ A(mm) = B(mm)  Mass(kg) Model of manufacturer
1@1 i i @1 ﬁ
”’l |." $ ZH-9A2575-080 28 58 62 0.037 8x2W, Z-9
Pipe strap with base A
Double < i
‘%‘ ZH-9A2575-200 212 66 70 0.041 12x2W, Z-3
-8
)
" | | ” $ ZH-9A2575-090 o8 66 70 0.04 8x3W, Z-3
Pipe strap with base A
Triple ‘
ZH-9A2575-210 212 80 84 0.047  12x3W, Z-5
B
[®] @] 2
ZH-9A2575-100 28 74 78 0.043 8x4W, Z-4
Pipe strap with base A

Quadruple
ZH-9A2575-220 212 20 94 0.052 12x4W, Z-6

Pascal Pamphlet PA-435E(11) REV.12 2024.06




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (Japan Color 2001 Coated)
  /PDFXOutputConditionIdentifier (JC200103)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Magnification /FitPage
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements true
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
  /PageLayout /TwoUpCoverPageContinuous
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice


